1.

AAAG U = (1,2,3,4,5,6,7,8) & = BEAZ A = (1, 2, 3, 4],
B =11, 3, 5, 7}°ll thoto] A°n B¢ & otd?

D{1,3 @24 @35 ®438 6 8



2. A A, B At n(A) = 10, n(B) = 7,n(ANB) = 34 T, n(AUB)
£ F-otofet

D
=%



514 359 FolA ekl 2A0|E QY S50 71
209, WA 2%2 AEY F53]0] 74T YL 7
7191517 & o] solet. ofuf Q12kel Aol et WA A
QY S elel Het S 45 Fatele

B e 3

—



4. M HTA=1{2,4,56,8),B=1{1,3,4,6,7},C = {4,7,8,9} °f ths}o]
(A-B)nC =7

@ {3} @ {8} @ {3,8}



AAHG U = (x| x= 100 0]5}2] A1

=62 85}, B={x| x= 82 v} 2
Nae?

@ 171 @ 270 ® 370

™ -

Il
=

’

@ 471

® 570



A3 A, Bl thsto] A4 kB AKB = ANB 02 HolF o the
2stoe9

l':_
= (AkA) kBt 2 A7

@D A ® B ®ANB @ AuB (O A-B



AAAF U = (1,2,3,4,5) 9 Al FEAF A = (1,2,3), B = (3,4,
C={125/1 AXB = (A-B)U(B-A) 2t T t}, F (AkB)*C
o 94:9] & Fohu?

@ 5 @ 6 ®7 @ 8 ® 9



